MATH 202.15 (Term 112)

Quiz 3 (Sects. 4.1-4.3)

Name:

Duration: 20mn

ID number:

3 )(2pts) (2pts)Show that {¢"*,e~"*} is a fundamental set of solutions to the DE

y' —n’y=0.
2.)(4pts)Knowing that y; = zcos(v2Inz) i

is a solution to the DE —z2y"+zy'—2y = 0,

find a second solution y, linearly independent to y, by using reduction of order.
3.)(4pts)Find the genaral solution of the DE y*) + 6y + 9y = 0.
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MATH 202.18 (Term 112)

Quiz 3 (Sects. 4.1-4.3)

Name:

Duration: 20mn

ID number:

1.)(2pts)Show that {cosnz,sinnz} is a fundamental set of solutions to the DE

y+ny 0.

2.)(4pts)Knowing that y, = z1 cos( 3[ Inz) is a solution to the DE 2z%y”

y'+xy +y =0,

find a second solution y, linearly mdependent to y; by using reduction of order.

3.)(4pts)Find the general solution of the DE y” + 3 —

y—-y=0.
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